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Do not open the question booklet until
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There are 50 Multiple Choice Questions
(MCQ) in the question booklet. All 50
questions are mandatory to solve.
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booklet before starting the question
paper.
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What is the concept of management?

(a) To manage financial resources

(b) To achieve organizational goals
with resources

(¢c) To control employee behavior

(d) To increase sales

Who defined managerial roles as
interpersonal, informational and
decisional?

(a) Henry Fayol

(b) Peter Drucker

(c) Mintzberg

(d) Taylor

Which i1s NOT a functional area of
management?

(a) Marketing

(b) Finance

(¢c) Accounting

(d) Cooking

What does the classical approach to

management focus on?

(a) Employee satisfaction

(b) Organizational structure and
efficiency

(c) Motivation theories

(d) Human relations

The contingency approach suggests
that management should be :

(a) Fixed and uniform

(b) Based on the specific situation

(c) Focused only on profits

(d) Focused only on human behavior
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6.

What is the first step in the planning

process?

(a) Identifying resources
(b) Setting goals

(¢) Evaluating alternatives

(d) Implementing the plan

Which type of planning deals with
day-to-day activities?

(a) Strategic planning

(b) Operational planning

(c) Tactical planning

(d) Contingency planning

Which of the following is an example

of the informational role of a manager?
(a) Leading the team

(b) Making decisions about resources
(c) Sharing information with
employees

(d) Resolving conflicts

Which approach focuses on both the
human element and the structure of

the organization?

(a) Classical approach

(b) Neo-Classical approach
(c) Contingency approach
(d) Behavioral approach
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10.

11.

12.

13.

Which type of planning focuses on

long-term goals?

(a) Operational planning
(b) Strategic planning
(c) Tactical planning

(d) Contingency planning

What is a disadvantage of planning?
(a) It provides a clear direction

(b) It reduces flexibility

(c) It helps in achieving goals faster

(d) It increases employee motivation

What of

emphasizes the need to adapt plans

principle planning

to changing circumstances?
(a) Flexibility

(b) Specificity

(¢c) Continuity

(d) Unity of direction

What does the process of planning

involve?
(a) Only setting goals
(b) Identifying

alternatives

resources and

(c) Developing a new product

(d) Focusing on finance
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14. What is the concept of decision-

15.

16.

17.

making?

(a) Selecting the best option from
available alternatives

(b) Giving orders to employees

(c) Managing resources effectively

(d) Delegating authority to
subordinates
What is the first step in the

decision-making process?

(a) Identifying the problem
(b) Implementing the decision
(¢) Evaluating alternatives

(d) Setting objectives

What does Management by Objective
(MBO) focus on?

(a) Setting clear goals and achieving
them with employee
participation

(b) Strictly controlling all aspects of
work

(¢) Focusing only on profit generation

(d) Delegating tasks to subordinates

Which of the following is the primary
feature of MBO?

(a) Setting clear and  specific
objectives
(b) Managing with a top-down

approach
(c) Ignoring employee participation

(d) Centralizsed decision-making
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18.

19.

20.

What does an organization refer to in

management?

(a) A group of people working

together to achieve common goals

(b) A system for controlling financial

resources
(c) A method of decision-making

(d) A tool for measuring employee

performance

What 1s the

organization in management?

significance of an

(a) Helps in  achieving  goals

efficiently

(b) Provides a method for rewarding

employees
(c) Focuses on reducing costs only

(d) Limits the flow of information

What is the relationship between

authority and responsibility?

(a) Authority and responsibility are

always equal
(b) Responsibility follows authority

(c) Authority and responsibility are

independent

(d) Responsibility 1s higher than

authority
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21. What does centralization in

management mean?

(a) Decision-making is concentrated

at higher levels

(b) Employees have more decision-

making power
(c) There is little control over employees

(d) Decision-making is spread across

all levels

22. What is  decentralization in

management?

(a) Decision-making is spread across
different levels of the organization

(b) Only top management makes
decisions

(c) Employees are not involved in
decision-making

(d) Authority is concentrated at the

top levels

23. What does the span of management

refer to?

(a) The number of employees a
manager can effectively supervise

(b) The number of departments a
manager oversees

(¢) The number of projects a manager
handles

(d) The level of control a manager has

over operations
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24.

25.

What 1s

management?

coordination in

(a) Ensuring that different activities
are aligned with the goals of the

organization
(b) Giving instructions to employees

(c) Managing the finances of the
organization

(d) Focusing on production only

Why is coordination important in

management?

(a) It ensures smooth functioning and
goal achievement

(b) It the
decision-making

reduces need for
(¢c) It increases competition among
employees

(d) It focuses on external factors

26. What does direction in management
refer to?
(a) Controlling resources
(b) Guiding and supervising
employees
(¢) Making financial decisions
(d) Setting long-term goals
27. Which  principle of  direction
emphasizes clear communication?
(a) Unity of command
(b) Clear communication
(c) Centralization
(d) Flexibility
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28. What is motivation in the context of

29.

30.

management?

(a) Directing employees towards
achieving goals

(b) Giving rewards to employees

(c) Providing training to employees

(d) Setting organizational policies

Why is motivation important in the

workplace?
(a) Increases job satisfaction
(b) Reduces operational costs

(c) Increases competition between

employees

(d) Focuses on external factors

According to Maslow's theory, which
of the following needs are at the
highest level?

(a) Safety needs
(b) Social needs
(c) Self-actualization needs

(d) Physiological needs

31. What does Herzberg's Two-Factor
Theory focus on?
(a) Hygiene factors and motivators
(b) Motivation and leadership styles
(¢) Money and incentives
(d) Employee training and

development
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32.

33.

34.

35.

According to McGregor's Theory X,

employees are generally seen as :

(a) Lazy and unmotivated

(b) Motivated and responsible

(c) Self-disciplined and hard-working

(d) Focused on job satisfaction

What does McGregor's Theory Y

suggest about employees?

(a) Employees dislike work and must
be controlled

(b) Employees are self-motivated and
enjoy work

(c) Employees are only interested in
money

(d) Employees need constant

supervision

What is the concept of leadership in

management?

(a) Giving orders to employees

(b) Influencing and guiding people to
achieve organizational goals

(¢) Managing financial resources

(d) Focusing on operational tasks

Which of the following is a leadership
style identified by Likert?

(a) Autocratic

(b) Participative

(¢) Transactional

(d) Transformational
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36.

37.

38.

According to Likert's System of

Management, which management

style is most effective?

(a) System 1 (Exploitive
Authoritative)

(b) System 2 (Benevolent
Authoritative)

(c) System 3 (Consultative)

(d) System 4 (Participative)

What the
leadership style focus on?

does participative

(a) Allowing employees to participate
in decision-making

(b) Giving orders and controlling

work

(c) Maintaining strict supervision

(d) Focusing on rewards and
punishment
What 1is the main purpose of

motivation in the workplace?

(a) To improve employee
performance

(b) To increase operational costs

(¢) To reduce competition among
employees

(d) To focus on financial rewards

39. What 1is the main purpose of
managerial control?
(a) To ensure organizational goals
are achieved
(b) To increase employee morale
(¢c) To reduce company expenses
(d) To promote competition within
teams
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40.

Which of these is a key feature of an

effective control system?

(a) It should be rigid and inflexible

(b) It should focus only on financial
goals

(c) It should allow for adjustments
when necessary

(d) It should discourage employee

involvement

41. What is a technique of control?
(a) Budgeting
(b) Marketing
(c) Sales management
(d) Hiring employees
42. What is the concept of planned
change?
(a) Change that occurs without any
strategy
(b) Change that is intentional and
structured
(c) Change that 1is forced on
employees
(d) Change that happens
unexpectedly
43. Which is an example of incremental
change?
(a) A major shift in company strategy
(b) Small improvements in processes
over time
(¢c) A complete overhaul of the
organization
(d) Rebranding of the company logo
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44.

45.

46.

What is the first step in the change

management process?

(a) Implementing the change

(b) Identifying the need for change
(¢) Evaluating the outcome

(d) Training employees

What is resistance to change?

(a) The of

employees to embrace change

process encouraging

(b) The natural tendency to oppose or

avoid change

(¢c) The acceptance of new ideas

quickly

(d) The willingness to adapt

What 1s a

resistance to change?

method to reduce

(a) Ignoring employee concerns

(b) Involving employees in the

change process

(¢) Enforcing the change without
explanation
(d) Reducing

communication

employee
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47.

48.

49.

50.

Which type of change involves small,

gradual adjustments?

(a) Radical change

(b) Incremental change

(c) Transformational change

(d) Transitional change

Which of these is a resistance to

change?

(a) Fear of the unknown

(b) Willingness to learn new skills
(c) Openness to innovation

(d) Adapting to new technologies

What

change?

1s the nature of planned

(a) Random and unstructured

(b) Structured,

strategic

intentional and

(¢c) Driven by employee complaints

(d) Based on market conditions only

What is an example of a technique

used in managerial control?

(a) Performance appraisals

(b) Employee welfare programs
(¢) Marketing campaigns

(d) Team-building activities
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B.Com. (Semester-I) Examination, 2024-25
(For Regular & NC)

BUSINESS ADMINISTRATION
Paper Code : BAD-51T-1001

(Principles of Management)

Section — B (wug — «)

GENERAL INSTRUCTIONS ( s\ fodsr)

(@)

(i1)

(iii)

iv)

No supplementary answer-book will be given to any candidate. Hence the

candidate should write the answer precisely in the Main answer-book only.
foret off whamell =1 T SW-YRae & @ TR T Wi i =fed fe 9 g=
IW-YRdent H g 9% Il il I forg

In Section - B

Part A : 2 marks for regular and non-collegiate students, Answer any one.

frafta wd @t faenfe=l & foau 2 sfw, fodt w1 W i)

Part B : 3 marks for regular and non-collegiate students, Answer any one.

frafaa wa @St faenfel=i & fau 3 ofw, foad weh o1 I <ifsu)

Part C : 10 marks for regular and 15 marks for non-collegiate students, Answer

any one.

frafta faenfef=l & forg 10 37 wa w@Eare faenfafE & fog 15 &7, e T %1 sw iUl

Make sure that your question booklet has all the 50 questions in Section - A and
4 Units in Section-B. Defection Booklet can be changed within 10 minutes.
-gfeert ¥ qoft wug-21 H 50 W9 Ud @Wue-9 H 4 e T 7, 3Th! e wifew) Ffegef
et #1 10 fiFe & Seaamn ST g 7

If there is any difference in English and Hindi version, the English version will be
considered authentic.

Ife a7 & fe< wd U T H HIE AR 8 a S Tl & TEl 9 S|
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SETA

Section — B (wug — «)

Unit 1

Part A
1. Define managemnt.

TeEA i g T
2. What are Mintzberg's managerial roles?

fifesrent & Seiehtar qfirent 1 &7
Part B
1. Explain the process of planning in management.

JSE H AT 9 1 UfhaT hl T HL|

2. What are the advantages and disadvantages of planning?
IS S 3 e IR B R == w6
Part C
1. Show the importance of "Efficient Management".
YUTERIE! J6i8 1 Hecdl Sdrgy|
2. Explain the concept, types and levels of planning in management.

e T ASHT hi STAURN, TehR 3 &R sl TIL HL|

Unit 2
Part A

1. What is the concept of Decision Making?
favfa o =t ufskan &1 o= a1l 72

2. Define Management by Objectives (MBO).
329 g1 TeiEA (MBO) 1 aitenfad i

Part B

1. Explain the concept of an organisation.

139 o Tagid & T |
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SETA

2. What 1s the relationship between authority and responsibility in an
organisation?
TeA § Afyesr ot e & o= e 41 €2

Part C

1. Discuss the concepts of Centrlization and Decentralization. Explain their

advantages and disadvantages.
HrsTentoT 3R Tshslantor i STEERunetl W =l Y| S @1 3R g i qHed|
2. Describe the meaning and importance of coordination in an organisation.

e § U9 & 279 9 g8 1 9UiF |

Unit 3
Part A

1. What is the meaning of Direction in management?

yeie # few (Direction) =T = 31¢f €72

2. Define motivation.
IO (motivation) &l TR |
Part B

1. Explain Maslow's Hierarchy of Needs Theory.

OTEAl it STavasarell i Suft (Hierarchy of Needs) fagid &1 Toe &
2. What are the different leadership styles? Explain briefly.

I3 (leadership) & fafa= Siferdr & ar H SaTd| HEY W wwEEy|

Part C

1. Discuss Herzberg's Two-Factor Theory of Motivation and its application in the
workplace.
gSiant & T W12 (Two-Factor) IO fagid T ==t ¥ R 30 HrEieIe W AN HTH & qih
Fam|

2. Explain Likert't System of Management. Discuss its various features and

significance in modern management.
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TgHhS o TeEE JUTelt (System of Management) el WT@I 0 fafy= foeroaned 3R

SMYMH ToET § 30k Hed W ==l il

Unit 4

Part A

1. What is the concept of Managerial Control?
yegea I3 (Managerial Control) &1 1 19 72

2. Define Planned Change in management.
Teied H S 9Rada (Planned change) sl 9RIA &h1

Part B

1. Explain the process of Managerial Control.
YeEeha 0T i sk Fl T A1

2. What are the types of changes in an organization? Explain briefly.
3 T gfterdd & YR o 87 Ha § guEey)

Part C

1. Discuss the different techniques of control in management.
YaiEE H 01 i fafs= derdiehl T == i

2. Explain the concept, nature and process of planned change.

o N

S 9iaa (planned change) &1 31¢, @@ AR wfsman HHART]
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